Řeš početně i graficky:

x + y = 1

x – y = 5





Bok

x + y = 3





Bobek

3x – y = 5

x + y = -1





x + 5y = 3





Sudková
x + y = 4





Hetychová

x – 3y = -6

x + 4y = -1





Jánský

y = -1

3x – 6y = 0





Kolářová

5x + 2y = 18

3x + 2y = 0






Licek

2x – 5y = -19

3x + 4y = -10






Možíš

5x – 2y = -8

5x + 2y = 6,5






Gwozdiak

4x – 5y = -8

-x + y = 4

x + y = 2






Duna
y – 2x = 3

3x – y = -2






Netušil

-x + y = 1

x + y = 5






Sabó

x + y = 3

x – y = 2






Tomašovič


x – y = 2


2x – y = 1






Mestlová

x + y = 8
3x – y = 0






Možíš
4x – 2y = 1
x + y = -2






Kolmann
4x – 2y = 1
y + y = -2






Mrkvičková
